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QUESTION 1

Given that only one alert message in your web application says. "Account deleted", which line(s) of code will allow you
to know that the "Account deleted" alert is displayed? 

A. Option A 

B. Option B 

C. Option C 

D. Option D 

Correct Answer: A 

 

QUESTION 2

Which of the following snippets of code would allow you to open a browser window and go to the python web site using
WebDriver with Python bindings? 

A. driver = webdriver Chrome() get(\\'HTTPS //www python com) 

B. driverwebdnver Chrome() driver refresh(\\'HTTPS://www_python com\\') 

C. driver = webdriver Chrome() driver.get(\\'HTTPS://www.python com\\') 

D. driver webdriver Chrome(HTTPS://www python com) 

Correct Answer: C 

 

QUESTION 3
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Which of the following statements about XPath is true? 

A. XPath uses CSS selectors to identify nodes in documents 

B. XPath is only used to find predefined tags in documents 

C. XPath is used to gather input from users for documents 

D. XPath traverses and finds XML nodes through XPath syntax expressions 

Correct Answer: B 

 

QUESTION 4

Consider the following test steps; 

Which of the following function signatures is the best for keyword implementing test step number 1 ? 

A. def login (): 

B. def login_with_admin_credentials () : 

C. def login(username, password) : 

D. def create_user (username, user_email, password) 

Correct Answer: C 

 

QUESTION 5

Which of the following states for a link WebElement could be checked to ensure that trying to click on the WebElement
does not fail? 

Choose three of the seven answers 

A. The WebElement is selected 

B. The WebElement exists 

C. The WebElement is not selected 

D. The WebElement is displayed 
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E. The WebElement is at a particular X,Y location 

F. The WebElement is enabled 

G. The WebElement has a text value 

Correct Answer: AEF 
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